
Junction Score:

2

12

 = 17%

Section X

Footway/verge too narrow for

2-way cycling

Limitation: Highway boundary

Minor, low traffic junction

to be treated like a large

driveway. Footway ends here.

Conflict with heavy traffic

Conflict with heavy traffic

Junction Score:

2

12

 = 17%

Crossing not a Toucan

Cyclists supposed to cross

here

Upgrade to Toucan

Option to cross at Toucan

Carriageway can be realigned

this way to get footpath and

cycle path on the other side if

land cannot be aquired on the

other side

1.5m

Confirm

vegitation/trees/highway

boundary and adjust footway

and cycle track accordingly.

Add early release/hold the left due to left turning articulated lorries

Option 1: as on page 71

Option 2: Push bus stop out

and create a bypass

Not enough space

Option 1: no signal on exit

Option 2: single lane on entry

Option 3: very short 2 entry

lanes

Option 4: short entry lane for

right turn, push crossing away

from roundabout

Option 5: Remove roundabout

for signal controlled junction

Option 6: Move roundabout

towards North

Signalising this busy junction

would help cyclists and

pedestrians

Not enough

space to create

bypass for

cycles without

going over the

ditch

Ditch

Speed

reduction to

30mph from

here

Not enough

space to create

cycle track

without going

over the ditch

Upgrade to parallel crossing

Current on signals?


